Managerial Accounting

Acct 2301

Chapter 8 – Performance Evaluation

Static Budget = Standard Price (Cost) * Standard Quantity

Flexible Budget = Standard Price (Cost) * Actual Quantity
	
	Static
	
	Flexible

	
	100 units
	
	50 units
	100 units
	150 units

	Sales ($100 per unit)
	 $    10,000 
	
	 $   5,000 
	 $ 10,000 
	 $ 15,000 

	
	
	
	
	
	

	Materials ($30 per unit)
	 $     (3,000)
	
	 $  (1,500)
	 $  (3,000)
	 $  (4,500)

	Labor ($25 per unit)
	 $     (2,500)
	
	 $  (1,250)
	 $  (2,500)
	 $  (3,750)

	OH ($15 per unit)
	 $     (1,500)
	
	 $    (750)
	 $  (1,500)
	 $  (2,250)

	
	
	
	
	
	

	Fixed Costs
	 $     (1,000)
	
	 $  (1,000)
	 $  (1,000)
	 $  (1,000)

	
	
	
	
	
	

	Net Income
	 $      2,000 
	
	 $     500 
	 $   2,000 
	 $   3,500 


Actual Result = Actual Price / Cost * Actual Quantity

Variances:

· Difference between standards and actuals

· Labeled as Favorable or Unfavorable

Types of Variances:
· Volume / Usage Variance – Difference between Static and Flexible budgets
· Price / Rate Variance – Difference between Flexible budget and Actual results

· Total Variance – Difference between Static budget and Actual results

  Static


 Flexible

      Actual

SP * SQ


SP * AQ

   AP * AQ




Volume Variance
           Price / Rate Variance

Calculate Variances for:

· Sales

· Materials

· Labor

Sales Variance
Sally sells sunglasses during 2007.  At the beginning of the year, she estimates that she can sell 1,000 pair for $15 during the year.  At the end of year, she had sold 1,200 for $13 each.  Calculate the volume, price, and total variances.

Labor Variance

Tom budgets that it will take 1.5 direct labor hours to complete each unit.  He budgets to spend $12 per hour on labor.  At the end of the period, 20,000 units had been completed using 40,000 direct labor hours.  The labor was $11.50 per hour.  Calculate the volume, price, and total variances.

Material Variance

Ron expects that each unit will need 5 feet of lumber.  He budgets to spend $2 per foot.  He is expecting to produce 10,000 units.  At the end of the period, 12,000 units had been produced using 4.5 feet of lumber per unit at a cost of $2.25 per foot.  Calculate the volume, price, and total variances.   

Spending Variances – Difference between actual fixed OH costs and budgeted fixed OH costs
Maggie expects to pay $25,000 in rent for the upcoming year.  Maggie goes to landlord and negotiates a deal to lower the rent to $20,000 per year.  What is the spending variance?

